Progress Energy

PLS-CADD -> THOR

\.2 Progress Energy



Systems and Data

Cat Id Numbers
THOR

Cat Id Numbers
Passport

Develop Standards

Currently a manual

THOR Standards
-develop
assemblies

process.

Develop

PLSCADD
- assemblies are
available for
validation

Assemblies
added to
PLS-POLE
models

Engineer and Design
Projects

THOR Estimates
- stage Bill of

Build Projects

Material and
Assembly
Infermation

Develop

PLSCADD
-assign
Assemblies and
customize parts for
a specific design

O
V!

Passport
- requisition parts

Work Order Book
- provide assembly
instructions

Progress Energy




g Thor Estimates - [ ¥10 --- Change Segment 3]

B3 File Edit Maintain  Wiew Tools Window Help

Project:
Description: I
Segment No: i3 Segment Amount: 3
Activity: !Installation L‘ Yoltage: |23D ke 'l
Conductor:  |1622 ACSS/Tw R Miles: [1
Charge By Dlg:!Line E ngineering L‘
—Cost Tracker
‘ Accurate: Mo Last Updated: 05/29/2009
Sort By: IF'art Type, Resource D ;i
Selected Items
Aty Type 1D Chan | Rebu| Description Remc
I Existing Sites : PB
CInstallation Items 1|Site SPBX-2 SITE N
C1Removyal-Only Items 1|Site SPBX-3 SITE N
1|5ite SPBX-4 SITE ]
1|5ite SPBX-5 SITE N
1|5ite SPBX-6 SITE ]
1|5ite SPBX-7 SITE ]
1|5ite SPBX-8 SITE N
1|5ite SPBX-9 SITE ]
1|5ite SPBX-10 SITE N
1|5ite SPBX-11 SITE ]
1|5ite SPBX-12 SITE ]
1|5ite SPBX-13 SITE ]
1|5ite SPBX-14 SITE N
1|5ite SPBX-15 SITE ]
1|5ite SPBX-16 SITE N
1|5ite SPBX-17 SITE N
1|5ite SPBX-18 SITE N
1|5ite SPBX-19 SITE ]
1|5ite SPBX-20 SITE N
1|5ite SPBX-21 SITE ]
1|5ite SPBX-22 SITE N
1|5ite SPBX-23 SITE ]
1|5ite SPBX-24 SITE N
1|5ite SPBX-25 SITE N
1|5ite SPBX-26 SITE ]
1|5ite SPBX-27 SITE ]
1|5ite SPBX-28 SITE ]
1|5ite SPBX-29 SITE ]
1|5ite SPBX-30 SITE ]
1|5ite SPBX-31 SITE N
1|5ite SPBX-32 SITE ]
1|5ite SPBX-33 SITE N
1|5ite SPBX-34 SITE ]
1|5ite SPBX-35 SITE N
1|5ite SPBX-36 SITE ]
1|5ite SPBX-37 SITE N




g Thor Estimates - [ JElv10,73 - Change Site SPBX-1]
B3 File Edit Maintain Yiew Tools ‘Window Help

i~ Site Attributes -

Project:
Site 1D: I County: lDlange LI [~ Remowval
- Line Attributes
Trans Line 1D: I -'-; Span Ahead: !321
Conductor: [1622 4055 /T | Overhead Ground Type:| /3" Steel
Number Conductors/Phase: !'I :_i Humber Wires/OHG: !'I
Sort By: ;Part Type, Fesource (D li
Available Items Selected ltems
= ZInstallation Items ~{]Qty Type 1D Chan | Rebu | Dezcription
=TI Plates 010350 A ) OMPH 0 CORO 22 A
C1Anchor Plate 330PJ50713 ASSY-DE-COMPR-POST JMPR-W/CORONA- 1622 ACS55/TwW/H5-b0K
CICkG Pl_ates : Plate GFO000G020 ASSY-0PGW_ AERIAL SPLICE BOX
£ Cathodic Protection 25 |Plate GFCOD2080A ASSY-ADSS/OPGW DOWH LEAD CUSHION-CONC/STL RMNG. 469" - 562
£ Conductor Plate GFFCC31424 ASSY-0PGW. SPLICE POINT-FALSE DE, 0.461-0.477" CENTRACORE [24/3
CIDampers Plate §C58250000 ASSY - DEEP DRIVEN GROUNDS- CONCRETE & STEEL POLES

1D esign Standards

CIFiber Optics-ADSS

EIFiber Optics-0PGW

£3Foundations

IFraming Standard

£IFraming Standard 115kY

— m Framing Standard 230kY

[E131180° - "230kY SGL CKT WOOD LARGE ANG DEADEND STRUCT
[131200° - '230k¥ SGL CKT STEEL YERT. TAN HOR "v" STRUCT
[E 31 200vCPw" - "220kV SGL CKT STEEL VERTICAL W/VEE STRING FOR CFwW-
[E131201° - "230kY S5GL CKT STEEL VERT BRACE POST STRUCT-3" ROD
[E131206° - "230kY SMGL CKT STEEL VERT HOR BP
[F131208" - '230k¥ SGL CKT STEEL YERT BRACE POST STRUCT-2.5" RD
[F131209° - "230k¥ SMNG CKT STEEL YERT BMDLE HOR BP
E31210° - "230kY SGL CKT STEEL SMALL ANG. SEMI-STRAIN STRUCT.
E31211° - "230kY SGL CKT STEEL SMALL ANG SEMI-STRAIN HISTRGTH
[31230° - '230kY SGL CKT STEEL MED/LG ANG SEMI-STRAIN STRUCT
[F31231" - '230k¥ SGL CKT STEEL MED/LG ANG SEMI-STRAIN HISTRGT

Plate 9300028100
Plate 93DED49350
Plate BONDTANCC
Stores Ma 0000372106
Stores Ma 0000434122
Stores Ma 0000160186
Stores Ma 0000160123
Stores Ma DoDoi63141
Stores Ma 0000155380
Stores Ma 9220144914
Stores Ma 0000143116
Stores Ma 0000142560
Stores Ma 0000142561
Stores Ma 0000200199
Stores Ma 0000190312
Non-5tore 800020

ASSY.INSL. 230KV POLY JUMPER POST W/CORMA RING.080281 STEEL P
ASSY - POLY SUSP Y-CLEVIS/BALL- 50k SML - 230KY - DE

Bonding material for CentraCore OPGW tangent applications

2-1/2" Pvc Conduit Schd-40 Ms-1

Band. Stainless Steel. 3/74™. Per Roll (1007)

COMMECTOR,. _.. TRANSF GRD 6-250 CU

Connec, Clmp Ground Rod, #10 Solid to #2 Solid for 5/8" Rod

Ground Clamp Twin-250 Cu

Jumper Terminal, Straight, 1272 Acss/TW- 4 hole

OPGW. CentraCore. 24 Count, 0.465" dia.

Sleeve, 1-Piece Compr Tension, 378" 5t

Sleeve, Compr Full Tension, 1272 Acss/TW

Sleeve. Compr Full Tension, 1622 Acss/TwW/HS

Wire, AC55/TwW/HS . 1622 kem 1.424" Dia. (39/19). Per # - Pecos/ACSS5/T
Wire. Copper BSD No. 2 - 7 5t

150° STEEL. ITEM 51

M

)
()

P
g
- S Y TN e L) ek ommkomd 5 G ek b ek ommk wmk (F] ek

[ 31240° - "230KV SGL CKT STEEL STAGGERRED TAN HBR POST (3" ROD] S 10 Non-Store 900002 Concrete  (Per Cu Yd)
[E31240CPw" - "230KV SGL CKT STEEL STAGGERRED TAN HER POST (3" RO 1|Non-Store 900001 Crushed Rock [Per Cu'rd)
[E1 31240VCFW" - '230kV SGL CKT STEEL STAGGERRED W/YEE STRING FOR ( 1|Labor nn Dig/Set Hd Steel Pole W/ Rock BF

[5131260° - '230kY SGL CKT STEEL TAN OR TERMINAL DE STRUCT-20K 321 |Labor 0821 Install Conductor Gt 795kcm 3 phaze per foot

I I IR I E I E R E E I I E I EEE ZEZEZ S E

[13126001° - "230kY SGL CKT STEEL TAN OR TERMINAL DE STRUCT 321 |Labor 0842 Install OPGW per foot

[E1312605PBX" - "230kY DBL CKT STEEL TAN OR TERMINAL DE STRUCTSPBX 6 |Labor 0862 Sleeve/Splice - ACSS/TW

[E131261° - "230kY SGL CKT STEEL TAN OR TERMIMAL DE STRUCT-40K 6 [Labor 0862 Sleeve/Splice - ACS5/TwW

[F131262° - '230kY SGL CKT STEEL TAN OR TERMINAL DE STRUCT-50K 2 |Labor 0861 Sleeve/Splice - Non-ACSR or ACS5/TwW

[5131265° - "230kVY SGL CKT STEEL TAN OR TERM DE STRUCT-20-50K

[E131266° - "230kY SGL CKT STEEL TAN OR TERM DE-20K & YOKED 40K
[E131270° - "230kY SGL CKT STEEL LARGE ANG DE STRUCT 10-33

[F13127007" - '230kY SGL CKT STEEL wW/69kY U_B. LARGE ANG DE STRUCT °
[E31271° - "230kY SGL CKT STEEL LARGE ANG DE STRUCT 33-85

B 3127107 - "230kY SGL CKT STEEL ‘W/69k¥ U.B. LARGE ANG DE STRUCT :
[E1312715PBX" - "230kY DBL CKT STEEL LARGE ANG DE STRUCT FOR 5PBX-
E131272° - '230k¥ SGL CKT STEEL MED ANG DE STRUCT 33-70 50K b

&'_‘ Progress Energy



g Thor Estimates - [JJll~10,73,5PBX-1 --- Change Plate 2010350713]

Window Help

B File Edit Maintain  Wiew Tools
Project:
Plate 2010360713

[~ Removal
Exploded: Mo
Rebuilt: Mo

Plate Descrption: l.-’-'«SSY -DE COMPR - MO COROMA - 1622 ACSS/TWwW /HS
Date Standards Laszt Updated: 07/24/2008

Manually Changed: Mo

i [nstallation Items

3 Removal-Only ltems

Sort By: IPE”t Type, Resource [D

2

Available Items

Selected Items

Chan

0000103507 N
0000403115 (N
0000403108 |H
0000117221 (N
0000119786 |N

0680 |N

Description

Comp De Sngl Tongue Eye 15d Jmp 1622 Acss/TW/HS
Compound, Afc HT Filler, Per. Lb.

Electrical Joint Compound, Boz. Bottle

Socket Clevis, 30kit, 5/8" Pin

Turnbuckle, Jaw-Eye, 45k#, 17X 12"

Dead-End Cond Comprezszion - per 3 phase - non AC55/TwW




v10,T3,5PBX-1,2010350713 - Change Resource]

,;;.Thur Estimates - [
F3. Fl= Edit Mainktain Wiew Tools Window Help

Hesource: 1
Rezource Type: Staores Maternial B Hesnu!c_e_ Unit
Resource ID: 00001 03507 Acquisition Type
IE:-:isting Stores Stock L!
Reszource Description: ID:nmp D& Sngl Tongue Eye 15d Jmp 1622 Acss/ Wanilaciuer

Unit Price: I $ Unit of Issue:  E& I

Catalog Part Type

Price Modified: Mo Refrezh Price and UOI |

Quantity: 3 Lead Time: 11 Catalog Part #

Cost Tracker Category: |260- STORES MATERIAL Jo [ e Drawing

BOM Type: ITransmission :I |

Erecting Code: | :I Installed Location / Panel #
Accounting Unit | ;I ll'-‘umhase Order Humber
Salvage Percent: I—UZ Rezource Modified: Mo

Escalate: es *| Hesource Rebuilt: Mo Company Equipment Humber

Removal: Mo 7| Maijor Part: L ITWI] Number: I—
Setting Depth: I u Sernial Number I—
Shipping Hanilesti—
Storeroom: 1298 AT :-! i | Delivery Date rmljg_




Parts Editor

Fram file: c:hplzhpls_poletexampleshpazsport-material. prt
Stock Description Unit User col 2
Number Prace

1 034-315 Concrete Pole property: S0ft 1Zkip .oooo
2 |00000S0Z45 Post property: 030245 .oooo
3 (000304 BOLT - SINGLE OHG .aooo
4 000660 CLIPIN CCONDUCTOR ARMOR RODS L0ooo
5 (001344 Skt-Mtr Oh 125a Ringless L0ooo
6 001453 Enclosure Elec Alum 40x40x15 (T.W.0.) .aooo
T 001505 Felay-Fulse Isolation RPE-3P (T.W.C.) Laooo
8 |oo21z27 OIL WACUUOM PUOMP P77 5GL .aooo
S (010014 Bolt, Machine, Hex Head, 1/4"™ X Z2-1/2" .aooo
10 010018 Eolt Mach Galwv Hex Head W/Nut 3/8x3/4 .0ooo
11 j010019 Bolt,Machine,Hex Head, Galw, 3/8™ X 17 100/F L0ooo
12 J010023 Bolt,Machine, Hex Head, Galwv, 1/27X3/4" < L0ooo
13 j0100z4 Bolt Machine, Hex Head,Galw, 1727 X 1 Sc L0ooo
14 (010025 Bolt Mach Galwv Hex Head W/Nut 1/Zx1-1/4 .0ooo
15 010026 Bolt, Machine, Hex Head, 1/2" X 1-1/2" .aooo
1 |0100zZ35 Bolt, Machine, Hex Head, 172" X 2" .aooo
17 010032 Bolt, Machine, Hex Head, 172" X 3" .aooo
18 010034 Bolt, Machine, Hex Head, 1/2™ X 3-1/2" L0ooo
19 j010040 Bolt,Machine,Hex Head, Galw, 5/8™ X 17 ZEST L0ooo
20 010041 Bolt, Machine W/Sguare Nut, 5/8™ X 1 1747 L0ooo
21 010043 Bolt, Machine W/Sguare Nut, 578" X 1-1/2"7 .ooaog
Z2 010045 Bolt, Machine W/Sguare Nut, 5/8" X 2T .oooo
23 010047 Bolt, Machine, Hex Head, 5/8" X Z2-1/2" .aooo
24 j010049 Bolt, Machine W/Sguare Nut, 5/8" X 47 .oooo
25 (010052 Bolt, Machine, Hex Head, 3/4™ X 1-1/2" L0ooo
26 (010054 Bolt, Machine, Hex Head, 3/4™ X 27 L0ooo
27 010056 Bolt, Machine, Hex Head, 3/4™ X Z-1/2" L0ooo
28 010058 Bolt,Machine, Hex Head, Galwv,3/4"X 37 20/ .aooo
29 j0101z0 Bolt, Hex Head W/Lk Whsr 1/2" X Z"Per Bag .aooo

LCancel |

)
K

Progress Energy




Assemblies Editor

From file: c:hplzhple_poletexamplesipassport-material prt

atock
Nurber

Description

Unit

Price

Mumber

of Parts

Edit Parts User col 1

in Assenbly

100Yz224826

L33Y - ARM GRIP SUSP - S0DEG Y-CLEVII 20K 795 AAC

0.o0000

40100175815

L33Y - COHG GROUND SUPPORT - 3C - UIING 031178 - 15.39"

TIP 0.0000

Lo

|

(=11

LT S (R B S |

11

12

13

14

15

16

17

15

19

20

2H:

AT

2

A

23

286

27

Za

4]

LCancel |

)
K

Progress Energy




Assembly Editor T X]

Azzembly stack number 100 26
Azzembly description ].-'-‘«SS‘T' -ARM GRIP SUSP - 30DEG Y-CLEVIS 20K 735 440
I— SJtock Number - Description | Duantity bt
1 _123248 Az3vy, 3gl Ag Zusp, st S e e 3.00
2 113871 Clevis-Eye,V-Type 90 deg ,30k#, 374" Pin 3.00
3 _I:IEIEIEEEI CLIPIN CONDUCTOR ABRMOE RODS 1.00
o
5
&
7 -
List of &vailable Parts
gtn:n:;}t ﬁescriptinn .T_T-nit .T_T-ser GD.]-.. 1 .T_T-ser GD.J-.. 2 .T_T-ser GD.J-.. 3 =
’_ Mader Frice =
1 034-315 |Concrete Pole property: © 0O.o0oao
2 |00000s0z4:iPost property: 030245 0.o0aao
3 000304 ECOLT - SINGLE OHG 0. oooo
4 JO0o0se0 CLIPIN CONDUCTOR ARMOR I 0. oooo
5 001344 Skt-Mtr Ch 1258 Ringless 0. oooo
- -
List of &vailable ssemblies
stock | Description I Tnit | mumker | User col 1 | User col 2- | user
’_ Marber Frice of Parts
1 [100¥22482¢[ASSY - ARM GRIP SUSP - 9( 0.0000 3
2 |24010017515HAS3Y — OHG GROUND SUPFORT 0. oooo 5




Next Steps (Issues)

Conductor span lengths
Type of conductor deadends (wire size)

Modified standards (changing materials inside
plates within PLS, then sending to THOR).

Attaching non site-specific labor (mobilization,
pilot lines, etc).

\.:' Progress Energy



	Progress Energy
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Next Steps (Issues)

